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Solución

Secuencia RTL del receptor 

MODULE: RECEPTOR 
INPUTS: in 
MEMORY: DIN_FF[8], CONT_IN[3] 
OUTPUTS: DATO[8], start 

1. CONT_IN[] <- 0
-> (in, !in) / (1,2) 

2. CONT_IN[] <- INC( CONT_IN[]) 
DIN_FF[7..0] <- DIN_FF[6..0], in 
-> (Fin_R, !Fin_R) / (3,2) 

3. start = 1 
-> (1) 

END SEQUENCE 
CONTROL RESET (1) 
DATO[] = DIN_FF[] 
Fin_R =  CONT_IN[2] and CONT_IN[1] and CONT_IN[0] 
END 

Secuencia RTL del transmisor 

MODULE: TRANSMISOR 
INPUTS: DATO[8], start
MEMORY: DOUT_FF[8], CONT_OUT[3] 
OUTPUTS: out 

1. out=1
CONT_OUT[] <- 0
DOUT_FF[]*start <- DATO[] 
-> (start, !start) / (2,1) 

2. out = 0 

3. out = DOUT_FF[0]
CONT_OUT[] <- INC( CONT_OUT[]) 
DOUT_FF[][7..0] <- DOUT_FF[0], DOUT_FF[7..1] 
-> (Fin_T, !Fin_T) / (1,3) 

END SEQUENCE 
CONTROL RESET (1) 
Fin_T =  CONT_OUT[2] and CONT_OUT[1] and CONT_OUT[0]
END 
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